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{
pt en=pt en*10;

timet++;
Iwhile (x>=1); \(
pt en=10; \ _CO'
V\/hl|e (time!=0) \,65

Qdegi t =( Onump r en/ 1
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V\/hi l e (NsumkGOsum NsunmeNsunt Nbase;
Nsum=Nsum Nbase;
printf("The new nunber of base %d is ", Nbase);
do
{
Nnumber =Osunm’ Nsum
Ndegi t =Nnunber %\base;
i f (Ndegit==14) printf("E");

else if (Ndegit==13) printf("D");
else if (Ndegit==12) printf("C");
else if (Ndegit==11) printf("B");
el se if (Ndegit==10) printf("A");

el se printf("%d", Ndegit);
Nsum=Nsuni Nbase;

}
whil e (Nsunp=1);
printf("\n\n");
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